Example 1;

tumd the quantaty (g) trom the given function st which AC is minimum
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As AC"™ 0 and AC” > 0. Thus at g = 2.5 both the conditions ol minima are satisfied
Putting the values of ¢ = 2.5 in AU function
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Lxample 2
Find the quantity (Q) at w



AC = 40-6(3)+(3)

40-18+9
= 49 -8
AL 31

Example 3:

(i) Find quantity at which AC is minimum from the given function.
{(11) Prove that: AC = MC at that quantity
C = 25Q-5Q°+¢Q’
(1) We derive Ac function from the above total cost function (L)

C 25Q -5Q°+Q°

AC = 6 - 0
(25 - 50 + Q)
Q
AC = 25-5Q+Q°
Ist denvative of AC function
dAC o
40 = AC'=-5+2Q=-5+2C
Putting AC" equal 1o zero
2+2Q = 0
) = 5
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Example 7:
Following Total Cost function 1s given
C = Q-12Q'+60Q
(1) Find the quantity at which ANer st | i
{11) Prove that, al that qua '
Solution: _
From the given cost 1\
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